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X
Cess of face value over issue price

: mﬂcﬂm%

e “ ofa Share is called

A) €

(B) ;(’T i g

(C A (B) Discount

(7 (C) Lo

Ss

D) ! S
(D) Wi Wftrry () Security premium

2, Wm%@mwm%mm

2. Scalar chain principle had been

A) TH. S5, IeR A - given by
B) 1 ¥ 3 (A) F. W. Taylor
(C) Teea it fg; gﬁnw;avd
on Mayo
B Audmes (D) Max Weber
8. Waruw fh® W § W Rt wy 3. Inwhat order do managers perform the
Fefea s @ ? . ‘managerial functions ?
4 : (A) Planning, organising, controlling,
A) TRISA, ", friFw, fdem directing
] ) B) Organising, planning, directin
(B) &S, s, v, femm i cor?'[rolllngg 1 : i
(C) G, M, fgisq. B (C) Orgtanlllsmg directing, planning,
: controlling
(D) FasH, T, FrivE, i (D) Planning, organising, directing,
controlling

e | o 1 grafyat @6y I 4. On dissolution of a firm, the assets
3 weTRIRT TR 3T of firm are transferred to realization

account at their

(A) Book value

(B) Market value

(C) Realizable value

(D) Agreed value among partners
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(B) @rE IcdTe ST =g

ST
(C) SHEE SATHAT ¥4 & wedt 2
(D) (A) T (B) &1 8

8. frefefiad gumei & i w afdy
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i ncluded

ing is NO
Which of theé follownng ’l7
in Agricultural |ncorr:) s
A) Income from gr ' P s tof
(B; Rent of Agriculturd
( agriculturé work e of
(C) Incomeé from purc

tanding crop ot
(D) Isncome from agncultural

’ areé
When shares are forfeited, sh

capital account is debited by

(A) Face value of shares

(B) Called up amount of shareés
(C) Paid up value of shares

(D) Unpaid amount of shares

According to the Malthusian theory of
population . :
(A) Population increases arithmetically
(B) Food production increases
geometrically
(Cg | Population increases
etrically

m (A) and (B)
i

With the help of following information

calculate provisions for bad and
doubtful deptg

Debtors M - Rs. 3,20
written off

Debtors N . Rs.
realise only 70%
Debtors O . Rs.
realise only 60%

Debtors P : Rs. 4,009

0 Bad to be
8,000 expected to
6,000 expected to

financial Condition

(A) Rs. 8,800 ®) Re. -
(C) Rs. 4,800 ) Rs. 4,000
cb
QVC‘O
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(A) ®. 456 (B) ¥. 475

(C) %. 480 (D) %. 500

10. HERI § GUE

(A) e SRITIT HTa &

(B) SITe] ST il §

(C) =ITe] TG W hIg THTE e Srerdl
(D) ST AT H LI FLdT

()

9.

10.

12.

On 31st March 2019, total debtors

e Rs. 25,000 and bad debts are
51,000, so if rate of discount on

debtors is 2% and rate of provision

for bad debts is 5% then the amount

OFdiscount on debtors will be

(A) Rs. 456 (B) R.s 475

(C) Rs. 480 (D) Rs. 500

Collection from debtors

(A) Decreases current ratio

(B) Increases current ratio

(C) Has no effect on current ratio
)

(D) Improves the solvency ratio

1.| The form of organisation in which expert

assistance is available to line managers
is called

(A) Line Organisation

(B) Committee Organisation
(C) Functional Organisation
(D)"Line and Staff organisation

Invéntory turnover ratio is
(A) Activity Ratio

(B) Profitability Ratio

(C) Solvency Ratio

(D) Liquidity Ratio

Which among the following is not a
technique of Business Forecasting ?
(A) Time Series Analysis

(B) variance Analysis

(©) Regression Analysis

(D) Input-output Analysis
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5.

©

, ica
Secur'[ty premlum 1S

(A) capital receipt.
(B) Revenueé recefpt
(C) personal receipt
(D) current liability

Break-Even Point is

total
(A) Where total revenue equals

costs

|
(B) Where total revenue equals tota

fixed cost

(C) Where total revenue equals total

variable cost

(D) Where total revenue exceeds the
total costs

From the following details calculate the
taxable income of ‘A’ assuming that

he is-a*Not Ordinarily Resident

i. Received Rs. 1,000 in India, which
accrued in England

: Bs. 6,000 was untaxed foreign
INcome of some earlier years

which was brought to India dy rng
previous year

iii. Rs. ?,000 €arned in India byt
received in England
Rs. 10,000 €arned angd received

in Africa but brou
ght to Indj
(A) Rs. 19,000 dia

(B) Rs. 12,000
(C) Rs. 9,000



. sriten 1 fod @g2 @ A e fa
% 1 B e 3 fe T €1 ST dl 3 el
il
(A) R @Td |
(B) fospa @d d
(C) =M @rd #
(D) em9-&T @d &

F IUTd FHIERLT “Y = 30 + 3.6x”
TR Gefier & ot R
+ 0.3 x
+0.025 x
+ 0.3 x
(=25+36X

|1‘ . 51- . o
A 1

u

r

17- The -

Unq Use of increase in cost per unit

® process costing is
Abnormal wastage
Normg| wastage
Abnormal gain
Normay gain

(D)

18.
The bad debts that have been written

f recovered subsequently then
% are credited to

A Debtors account

(
) Sales account
) Trading account

(C
(D

) Profit and loss account

Convert the annual trend equation
Y=30+3.6¢" into monthly trend

equation
(A) Y=25+0.3 x
(B) Y=2.5 + 0.025 x

" ﬁ Y30 ¥ 0I3"%

Y=25+ 3.6 x
20. The process of selecting a course of
action out of alternative courses to
solve a problem is known as
(A) Planning
(©) Directing

(B) Decision Making
(D) Controlling

It prime cost is Rs. 20,000: factory
oVemaads are 25% of prime cost and
officé overheads are 80% of factory
. vemaads then the office cost would be

(B) Rs. 29,000
(D) Rs. 45,000

#
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25. Wmﬁ%éﬁuﬁaﬁﬁ@m

22. The measur
series IS

A) Range 1.5
EB) Standard deviation

(C) Quatrtile deviation
(D) Inter-Quartile Range

s with the

ion increase
23, If total production oA it

increase in variable factor, |

(A) Law of constant return

(B) Law of diminishing return
(C) Law of increasing return
(D) Law of supply of production

@. Which of the following statements 1S
not correct ?

(A) Managerial accounting and cost
accounting both are complementary
to each other in nature

(B). Managerial accountingis concerned
with the accounting information
that is useful to management

(C) Managerial accounting includes
details of quantitative information
only

(D) Managerial accounting depends
On cost accounting

. In case of three attri
ributes the tot
number of classes will be )

(A) 27

(B) 9
(C) 12 (D; :
@ The basis of tax f
property’ is or‘Income from house

(A) Rent receiVed

(B) Annual valye

(C) Standard rent
)

(D) Municipal valye
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27. e =fea 317 %. 62,000; faada
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(A) %. 59,400
(B) ®. 61,400
(C) . 58,600
(D) ¥. 63,400
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(A) F=If-0d FreieRl & ISt @ | *Hise
foram e 2

(B) E=I{-2d WG o IS @1di ° sfee
fopa ST 2

(D) SmI-=1 @ A 2fe fwe s R

13 i T & A s
! forg ®9 8 SHT ST 8,

-

=]

\07‘\\5\7@
(G 0‘(
27. If Personal Income is Rs. 6 ,860;
Undistributed profit is Rs. 400:
Corporate Tax is Rs. 1,000 and
Transfer payments is Rs. 2,000, then
National Income will be

(A) Rs. 59,400

(B) Rs.61,400

(C) Rs. 58,600

(D) Rs. 63,400

28. Premium paid on the Joint Life Policy

of the partners is

(A) Credited to the respective partner's
capital account

(B) Debited to the respective partner's
capital account

(C) Credited to profit and loss account

(D) Debited to profit and loss account
29. Flow of infermation amongst people of
different departments at different level

- © is known as
l I‘r;]_.

j{‘ﬁ‘Horizontal Communication
iill "@E‘)"‘Upward Communication
(C) Informal Communication

(D) Diagonal Communication

As per SEBI guidelines, on issue of

shares, the application money should

not be less than

(A) 10% of the nominal value of
shares

(B) 10% of the issue price of the

shares
(C) 25% of the nominal value of

shares :
(D) 5% of the issue price of the

@

shares
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(A) =it mrea Afd

(B) e mrem Gifd

(C) it \rea Gfd
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34.

ifterm ST, el S (HIFO)
o 1wl e € 859
(A) mw:@a—@;wg

(B) Wt 1 ey Ere TE

(©) m%wﬁm%ﬁﬁm
(D) wmht =1 Ty ot A

35.

1

81,

82.

33.

34.

7 r v
‘1/ Scienﬂﬂ @
the father o
Who is known a3
Management
(A) Emerson
(B) Mayo
() F. W Taylor

(D) Keith Davis

The arithme_tic
distribution 15 5.

multiplied by 5.

will be

A) 5 (B) 25
(C) 10 (D) 50

A company cannot redeem its

debentures :
(A) Out of accumulated profits

(B) Out of accumulated losses
(C) By purchase of own debentures

from market :
(D) By conversion of debentures into

shares

Seculantrend cannot be measured by
(A) ‘Moving Average Method

(B) Semi-Average Method

(C) Weighted Average Method

(D) Free Hand Curve Method

@)_ Highest In First Out (HIFO) method of

issue of materig| is useful when the
(A)

(B)
(C)
(D)

Price of material is increasing

Price of Material ig decreasing
Price of Materia i ﬂuctuating

Price of Mmaterial is staple

PG-19/p



Eoiz PR mﬁawﬂ 85. Which of the following is not a technique

36. 21 T T R 7 of Business Forecasting 2
! Eg; Budgeting
Zel : Presentation of financial
- (B) fata |§'E|[‘i| m{—:{” q statements
(C) ArId AT 1 LR (C) Determination of cost standards
D ESICARRISE] (D) Profit planning

37. fa= 4 @ %= = am g ¥ SusieaT & ?/7 Which of the following is not the

. assumption of consumer's equilibrium
I shi A=A 7 ]
: 1 T - Indemand theory ?
(A) HERTHRHTT . ~ (A) Transitivity
(B) FIFATH HYf (B) Optimum satisfaction
(C) mﬁm@'{ ? (C) Consumer's choices are consistant
(D) 38 & s Tl (D) None of these
38. TI@Ih UTTEH ST e =54} g1 ITRid 3?. An accounting system that does not
31 =t AT T TUHT i & T 3 take into consideration outstanding
oI expenses and accrued incomes for

computation of profit is called
(A) Double Entry system

(B) Accrual Based system
(C) Single Entry system

(D) Cash system

R

39. Whichofthe following is not an attribute
under statistical analysis ?

(A) Deafness (B) Beauty
(C) Height (D) Blindness

y{. Inthe absence of an agreement reti ring
partners share in the firm will be

purchased by the remaining partners
in the

(A) Capital ratio
(B) Profit sharing ratio
(C) Equal ratio
(D) None of the above
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ST 3 3. 2,50,000, fy -
¥.10,000 ; ¥ fiuy %,
(A) 2978
(B) 318
(C) 4412
(D) 5HTE

000;
IT9ET
10,000 e

43. @1 = % e WEH B F ey o
Hehal 2

(A) 9T g
(B) wfastd g

(C) = 3m
(D) 39 v+t & g

44, WA B STRTOA S 1 FAEA &

(A) 9Rd THR % e T T

(B) {RA HTHR o fare T T

(C) T & 3 o7 T A
WA T

(D) Wm%ﬁgmﬂmﬁ@w

13

41.

42.

43.

The concept of “th
is concerned W!

; r
(A) Techniqué of wa
inventory of inventory co

Techniqué -
Eg; Techniqueofinventoryco

in production proce'ssI i
(D) Techniqué of contro

of inventory

ntrol
ption

stag®

000;
Debtors Rs. 40,000; B/R Rs. 20,eturn
Credit sale Rs. 2,50,000; sales r
Rs. 10,000; B/P Rs. 10,000. The

‘ | @
Average collection period will be &
O ¥

(A) 2 months -
(B) 3 months
(C) 4 months X

(D) 5 months (‘53

The relationship between two variables
can be expressed in

(A) Ratio

(B) Percentage

(C) Rate

(D) All of the above

W

_The responsibility to cong

in India lies with

(A) Ministry of Home affairs
Gpvernment of India

(B) Ministry of Finance

of India » Governmegpy,

(C) Ministry of Labouran
9vernment of Indig Employment
(D) Ministry of Youth Affairs a
Sports Government of Indig

PG.1g/n

Scanned with CamScanner



wmmﬁﬁuw, 2013 STFHR TF FFH!

» g it a1 fertee fern < A 2

(A) FH A T

(B) 72 T

(C) @9 g rgan Hifgam =
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46, T3 T aEEAEF S | A F Sah
FEATT 2

(A) T T @i

(B) 3TIE TITTH eraia

(C) UfderfEes e erare

45.

4P.

47.

According to Companies Act, 2013
Shares can be issued'by a company at
(A) Par

(B) Discount

(C) Par or Premium

)
(D) Premium

Determination of cost from actual
€Xpenses incurred is termed as

(A) Direct costing

(B) Indirect costing

(C) Historical costing

(D) Standard costing

The term previous year means
(A) Financial year

(B) Accounting year

(C) Calender year

(D)sFinancial year just before
assessment year

Which of the following statements is
not true ?

(A) The percentage of oxygen in
environment is 21

(B) The most dominating cause of
environmental polution is use of
chemicals in agriculture

(C) The Environment Protection Act
was passed in 1986

(D) GreenFuel Scheme aims atreducing
air polution by lead-less-petrol
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(B) =/ FI1Adl H 14

(C) w&

(D) uitafda &t &t qaia F1 ATRT

50, SeTfeeh ST 35 5 F [0 FAE
S T i T ¢
(A) wfafy amrg fafa
 (®) 3 A
(C) T amg fafel

51.

r

15

49. Numbe

30.

5.

02,

rt

rep©
t subordinates tha.; called
¥ e superviso’!

directly to @ sing
(A) Span of business
(B) Span of control

(C) Span of organisat

(D) Span of activity

jon

: ich
e of business forecasting wh

as ,
g statements 1S 1o

of the following

correct ? .
{A) Short range forecasts are les

accurate than long rangé forecasts
(B) Under time series forecast dat.a
obtained from past experience IS

analyzed
(C) Index numbers is one of the

methods for forecasting

(D)’ Least'squares method of business
forecasting is also known as line
of best fit

The principles of Mmanagement are
significant because of

(A) Optimum utilisation of resources
(B) Increase in efficiency
(C) Initiative
(D) Adaptation to changi

ging t

g echnol0gy
For printing of weddin

g invitatig
the most appropriate ¢ N carq

0sting system :
e

(B) Contract Costing
(C) Unit costing
(D) Job costing

PG~1%
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(B) YaTTRRR 37T = wied & ford
(C) 3T 9L ATHRT FTAH F o g
(D) S8 & rE e

54. Tordll Ush IcUTR ST9aT AT I A ANTd il 54.
TUHT A s AR @i 5y 2
(A) gfafe @mra fafa
(B) 3k ATTa oty

Bk :

SCurities premium can be used by a
COmpany for
(A) Issuing fully paid bonus shares to
its members
(B) Redemption of preference shares
(C) Payment of dividend on shares

(D) None of these

The cost accounting method to compute
basic cost of a product or service is

(A) Process costing

(B) Contract costing

(C) Uniform costing

(D) Unit costing

The main advantage of functional
organisation is

(A)" Spegialisation

(B) Co-ordination

'(C) Communication
(D)=Simplification

G

The total value of goods and services

produced within the country during a
year is called

(A) GDP (B) GNP
(C) NNP (D) NDP

The maximum number of members in

a private limited company can be

(A) 20 (B) 50
(C) 200 (D) Unlimited

s
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(A) ¥9d a

(B) %adl b

(C) a 3R b A=t

(D) F@MadRIb

84, U Sufa TRI 10% T IWR 37 2 S7&T
T FT 3T 37 ?
" (A) ¥ 7,50,000 &

Q‘ : 9°nSider the following statements angd

64.

dentify the right ones :

a. According to the theory of
demographic transition in the
first stage, birth rate is low but
death rate is high.

b. The difference between them is
high.

(A) aonly

(B) b only

(C) Bothaand b
(D) Neither a nor b

Surcharge of 10% is payable by an
individual, where his/her total income

exceeds to

(A) Rs. 7,50,000
(B) Rs. 10,00,000
(C) Rs. 50,00,000
(D)-Rs. 1,00,00,000

Which of the following is not a

characteristic of a company ?

(A) Non corporate body

(B) Artificial personality

(C) Perpetual succession
(D) Separate legal existence

The process of influencing the activitie:
of an organised group in efforts toward

goal setting and goal achievement i
called

(A) Planning
(C) Management

(B) Controllin
(D) Leadershi|

The last function of management is
(A) Directing (B) Controlling
(C) Organising (D) Planning



ed to
(B) Cot
(D) Or9

69. Motivation iS relat
(A) Planning
(C) Leadership

A leadership style in which gi
members are allowed to carry out

their work freely is called
(A) Free-rein style
(B) Democratic style
(C) Autocratic style

| (D). Paternalistic style
-~ 3 . Contract Account, the work in
m [ STTdT | S ists of v

(A) yorford & <1 AT a ork certified

(B) ST e 1 AT (B) Cost of work uncertified

. (C) Cost of work certified and
\~/ m o m m—qﬁm uncertified

Y SETfoTE T o ST TR T qHTford (D) Cash received on work certifi

and cost of work Certifieq

7}2, Income received in India or ga
to be received in India sh,
taxable for

(A) All assesses
(B) Residents

(C) Not ordinarily residente
(D) Non-Residents




-
Ty I fihd 9§ oJa foham o

T BT 2

. e
@ he "elationship between correlation

; fficientandcoeﬁicientofdetennination
AN be expressed as follows

(A) Coefficient of determination is the
SQuare of correlation coefficient

(B) Coefficient of determination is
the square root of correlation
Coefficient

(C) Both are equal
(D) Both are unrelated

@j Under Management Reporting System

Control Reports and Information Reports

are integral part of

(A) Financial Reports

(B) Operating Reports

(C) Both Financial Reports and
operating reports

(D) Reports to be given to
shareholders

75. A company incorporated by a special
Act of Parliament or any State
Legislature is called

(A) Government company
(B) Public company

(C) Statutory company

(D) Registered company

A company buys 8000 units of an item
for its annual requirement. Each unit
costs Rs. 10, the ordering cost perorder
is Rs. 30 and the carrying cost is 7.5%
of the average inventory per year. The
economic order quantity will be

(A) 566 units (B) 800 units

(C) 2530 units (D). 900 units
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(B) 31—

(©) Fedefier oy

(D) m%ﬁmm
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(C) T95cy™ (D) f

80. FEZ:
THA 3?371{3% ®. 3,00,000

7% JEIEHR 39 51 . 2,00 000

= U A1y %. 1,00,000

8% FHUTTH %. 4,00,000

Fel FHIET %. 10,00,000

gt af<r201 31qurg Brm

(A) 0.6:1 (B) 0.8:1

(C) 0.67:1 (D) 1:1
foRra 1 Heway s 714

78.

ok

/8@

81.

means and ®©
(A) OrganISIng
(C) Planning

A cost that rerpai 4
but changes With the

is called

(A) Fixed-cost

(B) Semi-variable cost
(C) Variable cost

(D) Absorption cost

After recession, COMes 3
(A) Prosperity (B) Depress.lo
(C) Recovery (D) Stagnation

Given :

Equity share capital Rs. 3,00,000
7% preference

share capital Rs. 2,00,000
Reserve and surplus Rs. 1,00,000
8% debentures Rs. 4,00,000
Total Assets Rs. 10,00,000
Capital Gearing Ratio will be

(A) 0.6: 1 (B) 0.8 1

(C) 0.67: 1 (D) 1: 1

The Karl Pearson’s coefficignt of

correlation can be computed betwear
(A) Two Variables -

(B) Two Attributes
(C) Two Numbers
(D) Two Assumptions

"‘ilag |
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82 With regard to business cycles which

Of the following is not true ?

(A) Expansion, recession, depression
and recovery are the four phases
of business cycles

(B) Business cycle is a part of the
Capitalist system

) According to Keynes, “The
trade cycle is a purely monetary
Phenomenon

(D) Theinnovations theory of business
Cycle is associated with the name
of Joseph Schumpeter

83. On the admission of a new partner if
the partners decide to record changes
occurred in the value of assets and
liabilities in books but not in accounts
then the firm prepares
(A) Profit and loss appropriation

account
(B) Profitand loss adjustment account
(C) Revaluation account
(B)=Memorandum revaluation account

84." The depreciation on Fixed Assets is
computed on their
(A) Book value
(B) Market value
(C) Realizable value
(D) Scrap value

85. The term casual income does not

include

(A) Winning from Lottery

(B) Winning from Gambling

(C) Capital gain on sale of shares
(D) Receipt of money lying on roag

#
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86. TEIFT %} 3upsiy o
) . . |sO
ST et @ N T 3 Gl @ Accrual system of accounting iS @ 2
(A) m BN known as
(B) WTREBW]#} (A) Cash system
(C) mm (B) Mercantile system
(D) a&=wrty RIS (C) Receipt system
y (D) Government system
87. améam%%qﬁﬂ,a , . prd
TN ﬁﬁ'ﬂT STaT 8 7 BRI 87. Which accounting standard is used
. depreciation accounting ?
(A) TG Fa79 _ 5 (A;’AS .
(B) TG g _ & e fe
(C) S g _ ¢ e
(D) @I w7 _ 14 Ol
88. T i Searen T Y 3k ey Hiceics 88." The assumption that “Anticipate no

(C) arar &t yfrd

% 1,200; S S wftageict < . 900;
- ¥ %, 2,00,000! e GH ﬁﬁ
N

profit and provide for all losses” is
based on

(A) Convention of conservatism
(B)Convention of consistency
(C) Convention of materiality
(D) Convention of full disclosure

@

Fixed cost Rs. 12,00,000 (including
depreciation Rs. 80,000); selling Price
perunit Rs. 1,200; variable Cost per unit
Rs. 900; Loan Instaliment Rs. 2,00,000_
Cash Break Even Point will pg

(A) 4367 units
(B) 4400 units
(C) 4000 units
(D) 4933 units
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90. Famfn % forg fafaer 2
(A) <9 =T JAqEH
(B) &TTA FT A
(C) fo=a g7a =1 s
(D) = 1 3gaH

91. TI¥IcT o STFER ITwerrT o i 7 R 2
(A) 59 HmT=1 35 fgg
(B) |9 gt 1 fag
(C) Hmr=1 Iw=ifiaT g9 g
(D) Uftadefie rurat =1 femg

92. frataei =+ 3 3fee A gfywr wem 1
St R

90.

91.

92.

93.

Tender for construction is an
(A) Estimation of profit

(B) Estimation of cost

(C) Estimation of selling price

(D) Estimation of work

According to Marshall the basis of
consumer surplus is

(A) Law of equi-marginal utility

(B) Law of equal proportions

(C) Law of diminishing marginal utility
(D) Law of variable proportions

Packing credit facility to exporters is

provided by

(A) Reserve Bank of India

(B) Commerciat-Banks

(C) Cooperative Banks

(D) Export Credit and Guarantee
Coﬁmration

The basis of Income Measurement is
(A) Matching concept
(B) Accounting Period concept

(C) Money Measurement concept
(D) Cost concept

An enquiry regarding the value, ownership,
title, existence and possession of an
asset is called

(A) Vouching
(B) Valuation
(C) Verification
(D) Investigation
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(B) Wﬂﬁ%ﬁuﬁma
(C) Tl % srfirerion
(D) a&ﬁaﬁﬁa{ﬁamé

97 SATTROT BT Z-Rrgi g
NEIRI
(A) T%. Socg, o g
(B) &y 2faw g
(C) T. k. 3= gm
(D) fiex gL g

“RIa=1 S ST BT 2, 31 8 T T
o il 8 l”%%wmnﬁém?
(A) T4 ST S F Fe
(B) T T ST & H T
(C) T &TH agqm%@'ﬁ
(D) RTE ST 3 @

ﬁ,ﬁnﬁﬁaﬂ'ﬁm

98.

forelt AT ATey @
7 BT 2

(A) A

(B) 9TH

(C) =UITcH=

(D) (B) @ (C) a1

99.

95.

98.

25

99.

|ssué e g
Eg; Offered 10 ex!st!ng
(C) Offered t0 eXIstlnsg

debentureholder

Issued tO creditors 0]

compay
(D) r
The process of controlling is con

with I

(A) Measurement of the actu@

performance

(B) Setting up of standa
(C) Assigning the tasks
(D) Determination of goals

rds

Z-theory of motivation was
propounded by

(A) F. W. Taylor

(B) Keith Davis

(C) L. F. Urwick

(D) Peter Drucker

“Higher the ratio, the more fay
it is”. This statement does p
with respect to

(A) Stock Turnover Ratjg
(B) Net Profit Ratio

(C) Gross Profit Ratig
(D) Operating Ratio

Oourable

The sum of deviationg taken
arithmetic mean of a Serig

(A) Zero
(B) Positive
(C)

from t
S is he

C
(D)

PQ_,‘ D
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100. Tfﬁ?ﬁﬁﬁmﬁﬁﬁm
() & F=S3 37 9 & S @
(c) @ fa=es formg =g ST 2

101, & ifEd St fohell st Bt e oy &
ford fa IeH ! 8, hgarrd ?
(A) T (B) FevH
(C) faF=m (D) SRR

102. 1 #2018 ! IR fol T =uR =)
A =1 L HaRer 5/ o fefor a9 5

<E1 8 ;
Are 'NCrease in sales price
(A)

Does not affect Break-Even Point
(B) Lowers Break-Even Point
(©) Raises Break-Even Point
)

(D Lowers net profit

101. The force that drives a person to take
action is called
(A) Management  (B) Directing
(C) Controlling (D) Motivation
102.  Income from business commenced on

1tMarch 2018 will be assessed in the
assessment year

(A) 2017 - 18

(B) 2018 — 19

(C) 2019 -20

(D) 2020 — 21

108." =The partnership may come to an end
due to the

(A) Death of a partner

(B) Insolvency of a partner

(C) Consent of all partners

(D) All of the above

While delegating authority a supervisor
delegates

(A) Only authority

(B) Authority and responsibility

(C) Authority, responsibility and
accountability

(D) Responsibility and accountability
#*

104.




106, faIF < ot 3 o i et
QA %1 31N ST iy ‘

(A) Y -=TH @rg §

(B) STt T= @ #

(C) MY Iy @ A

(D) =93 @rd §

i b fSreaTit i ueh TEt s

'mm%mmmm

105.

108.

Which among the following is not @
property of indifference curves ?

(A) Indifference curves cannot
intersect each other

(B) Every point of an indifference
curve shows equal satisfaction

(C) Indifference curves are,always
concave to the origin

(D) Indifference curves do not touch
the axis

After sale of investment the balanc_e
of sinking fund investment account IS
transferred to

(A) Profit and loss account

(B) Capital reserve account

(C) Sinking fund account

(D) Debentures account

An arrangement of staff duties whereby
no one person is allowed to record every
aspect of a transaction is called

(A) Internal Administration
(B) Internal Check
C)

)

D) Internal Management

(C) Internal Audit

(

An orderly arrangement of group
efforts to provide unity of action in
the pursuit of common goals is cajlgy
(A) Direction

(B) Co-ordination

(C) Control

(D) Decision Making

of e
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109. T T4 IEUTS T e o B g e
foram T it SR s iy fen

ST ®

(A) ISiTd = o wq

(B) ATH = & w9 {

(C) W™ T i & w1
(D) ¥fita g =g & w7 §

110. é’taﬁ%mmww%

(A) TeEs favetsm

ising 10
109.  Heavy initial expenditure o0 adver™

ified as
introduce a new product i class!

(A) Capital expenditur®

iture
(B) Revenue expenditur

d liability

(C) Deeme 4

iture
(D) Deferred
i en two
A functional relationshlp petwe
variables is called .
(A) Correlation Analy3l§
(B) Time series Analys!s
(C) Regression AnalysiS
(D) Association Attributes

111.  The portion of uncalled capital that can
hecatled ip shiy on winding up of the

company is known as

orised capital
d capital

(C Subscribed capital

(D) Reserve capital

112. The expenses which are incurred to
increase the demand of the product
are known as
(A) Selling expenses

(B) Distribution expenses
C) Both (A) and (B)

her (A) nor (B)
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114, L& €1 9 are @

113.  Onadmission of anew partner increase
in the value of an asset is credited 10

(A) Old Partner's Capital Account
(B) Revaluation Account

(C) Assets Account

(D) All Partner’s Capital Acc'ount

114. Margin of safety means

(A) Defference between actual sales
and total cost

(B) Defference between actual sales
and variable cost

(C) Defference between actual sales
and fixed cost

(D) Defference between actual sales
and Break-Even sales

Gross Profit Ratio is calculated by

115.
'1
oss Profit
x 100
a . E @%oss Sales

Gross Profit
B 100
B) Net Sales a

©) Net Profit %100

Gross Sales

Gross Receipts 100
Net Sales

(D)

116. Index numbers are expressed in
(A) Ratio

B) Percentage

PG-19/D
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117. WHE F T F R grarani &
forfed s1gere e 3 L
(A) TR 1 oy
(B) Tz #fiut fiyy
(C) ¥ % et s gy
(D) e Herg oo

118. ﬁ%ﬁﬁaﬁ?mmmm
(P/V Ratio) =1 gz ¢ 2 7

(A) P/V Ratio = S;V %100

—

k Profit

MOS x100

(B) P/V Ratic

117. The written agreement between the
Partners to form a partnership 1S
Called
(A) Certificate of Incorporation
(B) Memorandum of Assoaatloq
(C) Certificate of Formation of Firm
(D) Partnership Deed

18] Which of the following is not 2 formula
of P/V Ratio ?

—V><1OO

S
(A) P/V Ratio =

Profit 100
MOS

(B) P/V Ratio =
(C) PNV Ratio =

Change in Profit
Change in Total Cost

%100

(D) P/V Ratio = %100

R
BEP(Rs.)

hich theoretical distribution,
the quartile deviation is 2/3 of
Standard Deviation ?

(A) Binomial Distribution
(B) Normal Distribution

(C) Poisson Distribution
(D) Random Distribution

120. In Taylor's functiong|
‘gang boss’

(A) Inspects quality of work
(B) Issues orders and ingtr,
(C) Set up 100Is and magp,
(D) Compiles data for a5

of cost of _won

I.|_ '-.#

s

Organisation,

Ctions
nes
cel‘lainmem
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(A) ATYRTISRAT 7
(B) STreran &

(C) T&ar =1
(D) WW’@WW
122. ITEH 90UC Bl @

(B) RGN 1T + Wemafys :
(C) TY AT + ATy =y

(D) b SASIAN +mﬂﬁ$3qﬁ‘a]q

e

12}2.

123.

o udl 1124

1125

1/2/1. The Debt-Equity Ratio is a test of

(A) Profitability

(B) Solvency

(C) Liquidity

(D) Managerial efficiency

Cost of production is

(A) Prime cost + Factory overheads

(B) Factory cost + Administrative
overheads

(C) Direct cost + Indirect expenses

(D) Prime cost + Administrative
overheads

After redemption of debentures, the
balance of Sinking Fund Account is

transferred to
(A) General Reserve Account

(B) Capital Reserve Account
(C) Profit and Loss Account
(D) Debenture Account

Under Income Tax Act, 1961 incidence
of taxation depends on

(A) Citizenship

(B) Age

(C) Residential status
(D) Gender

Under Time Series Analysis regular
and periodic moment not exceeding
one year is called

(A) Trend

(B) Circular Variation

(C) Irregular Moment
(D) Seasonal Variation

PG-19/p
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